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Il Semester B.Com. Examination, August/September 2023
(CBCS) (2014 - 15 and Onwards)
(Repeaters)
COMMERCE
Paper - 2.6 : Quantitative Analysis for Business Decisions — |

Time : 3 Hours Max. Marks : 70

Instruction : Answer should be either completely in English or
Kannada.

SECTION - A

Answer any five sub-questions. Each sub-question carries two marks. (5%2=10)
C3RR)TITTR DTN wm-@gﬂ@ﬁ oVSON. [,3 emﬁ-“w_';% i QT 903N,

1. a) What is primary data ? Give an example.
T2, e T30 0BT ? LVIOTTRBOIROTRY, ed.

b) What are class intervals ?
SNE T0G,038 0BT 2

c¢) Calculate mean from the following data :

x: 15 22 28 35 47 55 35 20
FNIYNeoT ﬁmﬁao:baig{ FORO&LAROWD :

x: 15 22 28 35 47 55 35 20
d) Define measures of dispersion.
S, 30T B, ZONTI), 739,457, .

e) What is base year or base period ?
RO &30 0BT ?

f) What is meant by CPI or CLI ?
CPI o553z CLI 2038e 2

g) IfIp 19, = 250, Ip,a, = 180, find cost of living index number.
Zp1q0 = 250, Epoq0 = 180 <08, Bess F‘”?'i mwﬁ 0% ﬁo&%oﬁa‘bﬁt FOTRILEOWD.
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SECTION -

B

Answer any three questions. Each question carries 6 marks.
CINR)TTETR TR B,Z NN ¢UI0A. 3,3 BINe 6 Lo8nsd.

2. What are the functions of statistics ?
RO, TIRT F03F NS AR ?

3. Calculate mean and median from the following data :

x [ 11 | 12

13 | 14

15 | 16

17

f 8 13

25 | 17

23 | 15

9

NIRRT FTHRO =B G, FD VSIS ﬁﬁm& :

X 1

12 | 13

14 | 15

16 | 17

[Tt 8

13 | 26

17 | 23

15 9

(3x6=18)

4. Draw frequency curve from the following frequency distribution :
FPNSRNG ID3FS WSTHOWOT STIFS asgdeajo:mgt T3 :

Marks
L0310

0-10

10-20 | 20-30 | 30-40

40 - 50

No. of students
azxsﬁarm ﬁoﬁs

13

15 17

23

5. Find S.D and C.V. for the following data :
B, RRed3 QBOT BB ATTSF TR, FoTELRBOWD :

X 8 10

17 | 20

25 | 35

f 2 4

5 3

4 6

6. Calculate consumer price index number.
Mo, @80 23S Reed, 08 Foad, oY, FOrRLBOWD.

ltems Price Index % of Expenditure
TTRTEND (S} :irazdsos 3e. dzi
A 225 40
B 150 12
C 175 16
D 250 14
E 140 18
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SECTION-C

- Answer any three questions. Each question carries 14 marks. (3x14=42)

SRYTRETR SRt B3 en uZon. B8 T I N 14 wosnish.

7. The scores of two batsmen ‘A’ and ‘B’ in ten cricket matches is given below :

A | 24 | 22 | 28 | 32 | 32 | 30 | 28 | 35 | 40 | 45
B 20 | 25 | 29 | 30 | 34 | 35 | 23 | 37 | 45 | 47

Find who will be a better scorer and who is consistent batsman.

'R Y W QoW BT BT TR ToT,NYY TAED T 83 IWNT03 A

o | 24 | 22 | 28 | 32 | 32 | 30 | 28 | 35 | 40 | 45
w | 20 | 25 | 29 | 30 | 34 | 35 | 23 | 37 | 45 | 47

03RTO V0 ﬁf&iodomq moamadoda Y 2&6 2837100 OSN30 0T FoRILEOWD.

8. Calculate Karl Pearson’s co-efficient of skewness from the following information :

Wages (X) 400 — 500|500 — 600 | 600 — 700 | 700 — 800
No. of workers (f) 8 20 25 30

Wages (X) 800 — 900 | 900 — 1000
No. of workers (f) 12 10

83 IINTINVOT T F HOT RS TR nomogs 238, 80TCRTY, FORIELROWD :

259 (X) 400 - 500 | 500 — 600 | 600 — 700 | 700 — 800
ocnres Hosd, (f) 8 20 25 30
229 (X) 800 — 900 | 900 — 1000

»FEc Tosd, (f) 12 10
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9. Calculate Fisher's Ideal Index Number and check whether it satisfies TRT and
FRT or not.

$AO'CIT GTIF A 08T FORLBOWD ) B WBRTE Tone 03
WHERSE &) BRRFT0IRE ALFPe 20T TOESA.

Commodities 2021 -— 2022
Price Quantities Price Quantities
TR 33 B =nes 233 5 =R
A 12 20 10 25
B 8 25 15 18
C 15 23 14 20
D 18 20 16 27
E 20 14 22 10
F 10 25 12 30
G 12 28 10 33

10. Draw “less than” and “more than” ogive curve for the following frequency

distribution and obtain median graphically and verify the results through actual
calculation.

NS S[BFS DBORMON “3RR" W) T, WA I T 2PCd TN
0TI, Tearord3 B BopvE BomLATd BT ToedA.

C.l.| 0-20 |20-40(40-60|60-80|80—100|100—120| 120 - 140
f 5 12 16 22 25 15 18

11. Draw a blank table showing different attributes. Explain in detail about attributes
of table.

NPT TOROTENIR) BReOTT W399 ifaajaa*‘% WBOWND TR RodTaoNn ©us
meavv; ONYRY, WTOR.




